L’ Arrondissement (C)

3.928

5.980

1.320

90.158

22.206

737.136

632.128

946.051

1.659

4.879

7.789

75.443

19.177

515.374

116.998

923.613

5.437

5.923

14.393

59.065

66.597

510.699

508.101

6.574.649

Arrondissez chaque nombre ci-dessous a 1’unité de mille pres.

3.911

5.184

59.267

65.442

37.424

862.354

554.472

1.422.678

MathsLibres.com




L’ Arrondissement (C) Solutions

3.928
4.000

5.980
6.000

1.320
1.000

90.158
90.000

22.206
22.000

737.136
737.000

632.128
632.000

946.051
946.000

Arrondissez chaque nombre ci-dessous a 1’unité de mille pres.

1.659 5.437 3.911
2.000 5.000 4.000
4.879 5.923 5.184
5.000 6.000 5.000
7.789 14.393 59.267
8.000 14.000 59.000
75.443 59.065 65.442
75.000 59.000 65.000
19.177 66.597 37.424
19.000 67.000 37.000
515.374 510.699 862.354
515.000 511.000 862.000
116.998 508.101 554.472
117.000 508.000 554.000
923.613 6.574.649 1.422.678
924.000 6.575.000 1.423.000
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